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Section 1

Instructions

* Choose the best answer for Questions 1-20.

* This section has 20 questions and is worth 20 marks.

» Use a 2B pencil to fill in the A, B, C or D answer bubble completely.

* If you change your mind or make a mistake, use an eraser to remove your response and fill in the new
answer bubble completely.
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Do not write outside this box.
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Section 2

Instructions
* Write using black or blue pen.
+ If you need more space for a response, use the additional pages at the back of this book.
— On the additional pages, write the question number you are responding to.
— Cancel any incorrect response by ruling a single diagonal line through your work.
— Write the page number of your alternative/additional response, i.e. See page ...
— If you do not do this, your original response will be marked.

* This section has eight questions and is worth 40 marks.

QUESTION 21 (1 mark)

Identify the six different types of energy involved in digestion and metabolism of food.

Do not write outside this box.
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QUESTION 22 (4 marks)

A cage egg producer in Queensland is concerned about the low level of cage egg sales in the retail market.
Explain two risk management strategies the producer could use to help prevent financial loss.

Do not write outside this box.
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QUESTION 23 (4 marks)

a) Describe paddock rotation and the reason for this practice.

The table contains yield data for different grazing management strategies.

Strategy Annual yield | Utilisation
(t DM/ha) (%)
Continuous grazing 8.5 60
Paddock rotation 10.2 65
Cell grazing 10.2 80

b) Draw a conclusion about the grazing strategy most likely to increase animal

production. Justify your conclusion.

Do not write outside this box.
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QUESTION 24 (6 marks)

a) Identify one significant animal disease that affects production. [1 mark]

b) Identify two health effects and two economic effects of the disease identified in
Question 24a). [2 marks]

c) Use an example to explain a biological method of pest control and the conditions that
should be met before it is used to control an animal pest. [3 marks]

Do not write outside this box.
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QUESTION 25 (5 marks)

The graph shows changes in pasture quality over time. The table contains the energy and protein
requirements for weaner sheep at different live weights.

Digestibility Energy Protein
(%) (MJ ME/kg DM) (%)
A A
70 @ Active growth 9.5-10 16
High
production
@ Late vegetation
@ Early flowering
Moderate 75 10
55 production
@ Mid flowering
Maintenance of dry stock b ot el
@ Dry grass and stalks
Weight loss of dry stock
@ Dry stalks
40 4.8 4
Time
Live weight Weaner <20 kg | Weaner 20-25 kg | Weaner > 25 kg
Metabolisable energy
(MJ/kg dry matter) 3.4-4.5 4.5-5.7 5.7-6.8
Crude protein (%) 14-16 12-14 10-12

Do not write outside this box.
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b)

Describe one function of protein in an animal’s diet. [1 mark]

Use the table to identify the relationship between the crude protein requirement and
the weight of weaner sheep. [1 mark]

Use the graph and table to draw a conclusion about the effect on animal growth if a
group of 30 kg weaner sheep was fed a grass-based pasture at the late flowering and
dry grass and stalks stages. Explain your reasoning. [3 marksj]

Do not write outside this box.
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QUESTION 26 (7 marks)

A producer is developing a cropping plan for next summer. They are considering whether they should
plant peanuts or lucerne.

Peanuts Budget ($/ha)

Income

Jumbo (2.5 t/ha @ $1200/t) 3000
Ones (0.5 t/ha @ $1000/t) 500
Splits (0.25 t/ha @ $900/t) X
Total income Y
Variable costs

Fallow management 16
Planting 313
Plant nutrition 87
Plant protection 129
Irrigation 360
Harvesting 241
Total variable costs 1146

Lucerne Budget ($/ha)

Income

AFIA Grade A1 (320 bales/ha @ $8/bale) 2560
AFIA Grade B2 (106 bales/ha @ $6/bale) 636
AFIA Grade C3 (106 bales/ha @ $4/bale) 424
Total income 3620
Variable costs

Fallow management 29
Planting 35
Plant nutrition 44
Plant protection 8
Irrigation 630
Harvesting 193
Other 32
Total variable costs Z

Do not write outside this box.
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a)

X:
Y:
Z:

b) Use the data in the tables to identify which crop the producer should plant.

Determine the values for the cells marked X, Y and Z in the tables.

Provide reasoning for your decision.

[3 marks]

[4 marks]

Do not write outside this box.
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QUESTION 27 (7 marks)

A trial was conducted on a double-crop rotation system, using nitrogen supplied in different forms,
to evaluate the effects of different fertilisers on crop yield.

The different kinds of common organic fertilisers used and compared to the control treatment (C) were:
+ general organic fertiliser (GOF)

* biogas residue (BR)

+ refined organic fertiliser (ROF).

Both crops of tomato used the same variety.

The graph shows the mean yield for each crop and fertiliser treatment. Error bars represent 95%
confidence intervals.
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80 I — ——

60 7I

Yield (t/ha)

40+

20

I T
C GOF BR
Treatment

Key I:I Tomato 1 Celery - Tomato 2

a) Explain why nitrogen is important for plant growth in agricultural crops. [2 marks]

Do not write outside this box.
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b) Analyse the data to identify the relationship between the type of fertiliser applied and
celery yield. [1 mark]

c) Decide which fertiliser tomato farmers should use to optimise production in this
cropping system. Justify your decision with two pieces of evidence and give a reason
this type of fertiliser would be expected to improve the yield of a tomato crop. [4 marks]

Do not write outside this box.
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QUESTION 28 (6 marks)

A dairy farm in the tick-free zone of Queensland has been quarantined due to a cattle tick infestation.
The producer is required to treat their animals over a two-year period to eradicate the infestation and then
continue to treat their animals to prevent re-infestation.

Discuss an effective strategy for a two-year period, considering the goals and implications of using
chemicals in a dairy enterprise.

END OF PAPER

Do not write outside this box.
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ADDITIONAL PAGE FOR STUDENT RESPONSES

Write the question number you are responding to.

Do not write outside this box.
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ADDITIONAL PAGE FOR STUDENT RESPONSES

Write the question number you are responding to.

Do not write outside this box.
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ADDITIONAL PAGE FOR STUDENT RESPONSES

Write the question number you are responding to.

Do not write outside this box.
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ADDITIONAL PAGE FOR STUDENT RESPONSES

Write the question number you are responding to.

Do not write outside this box.
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ADDITIONAL PAGE FOR STUDENT RESPONSES

Write the question number you are responding to.

Do not write outside this box.
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